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2 g = g = =& SN 2 g = g=x =& SN
15 MECOIUS | 29,129,000 29,129,000 o|marzal Al Al 2,000,000 2,000,000 0
6 |olz2 EE FE=0ES | 37.626,000| 37,626,000 0| MarEAEl | Al IS 3,700,000  2,000,000| A 1,700,000
17 |&ay &aol =)y 400,000 400,000 o|marEALl Al AESHE L 462,000  4.618,200) 33,800
18 | &4 T4 ASA=0IR | 300,000f 300,000 0| Atest Abei bl oicheel Al 4,400,000 4,400,000 0
19 |&sy Zagl JIEHE 42 500,000| 500,000 0| Atestl AbgiHl A= M=21) 641,619,000 628,818,000( 412,801,000
20 0 0 0| Atest Abei bl H=ERPIT 19,150,000 19,350,000 200,000
21 0 0 O|VHEXE |DHENE |VAEXE 0 0 0
22 0 0 0|argz SHass |azass 0 0 0
23 0 0 0|atsta N N P OEE! 0 0 0
24 0 0 JENE S S 1,207,000| 1,207,000 0
25 0 0 o| JuiHl = 1) WBIEE = 1 gy 1,000,000 1,000,000 0
2 0 0 o| Zulul = JHABIEE = I waig 4,362,000 17,163,000| 12,801,000
1,033,681 1.031.9881 42,500,000 HZ 2t 1.033.9881 1,031,881 42,500,000
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